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LEAD:
Summary of story
expansion of intro.

SECOND SECTION:
New source

THIRD SECTION:
Background

FORTH SECTION:
Return to source
from intro.






News text

Abstract Attribution Story
Headline Lead Source Place Time Episode 1 Episode n
News Journalist's
agency  byline Event 1 Eventn

Commentary Background

7 N

Time Place Consequences Reaction Context Evaluation Expectations Previous History
episodes

Attribution  Actors Setting Action Follow-up



Event 1<

Episode 1—= Event 2 \

Action

Action

Action

Headli
Broken vow _—— oadine

rap for Blair
A HIGH Court judge yes- Lead
terday rapped Premier

Tony Blair for breaking g 3
a pre-election pledge.

Mr Blair promised that
all children with assisted
places at private schools
would be able tdfinish TIME 1
their education.

The Government was
sued by the parents of
Heather Begby, 10, for
ditching the schemegost-
ing heraplace at The TIME 2
Levs school, Cambridge.

Mr Justice Kay ruled
the move was legal. But

he said he could not forcenME 3
the PM to keep his vow.

Episode 2















News source
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Chief reporter /
News editor
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Subeditor /
copy editor

Receiving media|




Receiving media

T
subeditor—= version 5

editor —  version#—  subeditor

subeditor ——  version 3—— editor

chief reporter —=  version 2—= subeditor

journalist—= version = chief reporter








































i Derivation relations:

(A,C) = derived
(B,C) = assumed to be independen
(A,B) = independent
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Is C derived from A? Is B derived from A?




Newspaper and
newswire text
pair

Relevant

Non-relevant

Same topic Same topic

RELATIONSHIPS:

Same news topic

Same news topic ar

same story different story

same news story (i.¢
on same day)

Wholly-derived Partially- Non-derived
Derived
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corpus

[rawtexts J %nnotated}
[ showbiz} [ courts J
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[ <body>
Catchline 1
</body>
. <body>
Catchline 2
</body>

<body>
Catchline n
</body>

<TEI.2>

File information

<teiHeader> |

PA page/newspape

PA page/newspape

</TEL2>

Header <s n=1>
D </s>
<div> /
- <p> .
</p>
”””””” <s n=m>
</s>
Each paragraph
consists of
Da .
Y </div> sentences
Individual
PA page or
newspaper
article





















Tex‘tual‘strinlg ‘ o ‘ o ‘ ‘ ‘ ‘ ‘
of all the gin joints in dll the towns.in:all ithe world: she Walks: into| miMAGRAMS
[ of all the
[ all the gin
[ the gin joints
[ gin joints in
[ joints in all
[ in all the
[ all the towns
[ the towns in
3-gram window towns in all
[ in all the
[ all the world
[ the world she
[ world she walks
[ she walks into
[ walks into mine
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Text string: PA source

|Aldrink/ o rah into the Quegen Mother's official Daimler was
ined £700 ang banned from dnwpg for two y%ars.

DRUNK driver whd crashed into the back of the QUeen Mum's

o }Nas’f bannqd for two years yesterday.

Pattern string: derived text from the Daily Star


































Source Text (ST) Derived Text (DT)

‘ ss1 } 3:1 mapping DS1 }-7Derived Sentences (D!
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Source Sentences (SS)






























newspapers

textl
text2

INDEXER

METER CORPUS

Index

<index line>
<index line>

Results

Kresult line>
Kresult line>

similarity> | Newspaper
ksimilarity> | Similarity
scores

catchlines

queryl
query2

STAGE 3: Evaluate results

wD
TEXTS

Kprecision>
Kprecision>

PA catchline
query precision
scores

EVALUATE

PD
TEXTS



















Unseen cases for
a given catchline

(PA copy, newspaper) - text pair

e
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METER
corpus

(Test data)

EVALUATE THE
MODEL

(Training data)

BUILD THE
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Mean containment score
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n-gram length (words)
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WD/PD/ND

F1=0.870

Classifier 1
(alignment)

Classifier 2
(combined)

/‘

N

F1=0.770

F1=0.698

F1=0.556
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